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What if

..the serving sizes were reduced by 10% fo the nearest
ml or the price was increased by 10% fo the nearest 1p?
What difference would this make fo the custorer and
Laura as the café owner?

An adult serving of soup
is 345ml and costs £2.99.
A child’s serving is 175ml and costs £1.75.
There are 100 of soup.

With at least 15 servings of each, identify
the combinations of adults’ and children’s
servings which use as much of the soup
as possible?

An adult serving of fomato soup is 345ml.
A child's serving is 175ml.
Laura the café owner thinks she has enough soup fo
be able to sell 14 adult and 14 child's servings.
Is she correct?
Explain how you know.

Money decimals
‘measures long
x+%

16:40
18/03/2020

A 4) BNG





